Homework
Use the accompanying diagram f(x) to answer questions  18 – 24
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1) Find all solutions that satisfy f(x) = 0


2) Give the points that satisfy the relative minimum


3) Give the points that satisfy the relative maximum


4) For what interval is f(x) always increasing?


5) For what interval is f(x) always decreasing


6) f(x) has an absolute maximum value of ______________


7) f(x) has an absolute minimum of ___________________
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A manufacturing company has developed a cost model,
C(x) = 0.15x3 + 0.01x2 + 2v + 120, where x is the number of items
sold, in thousands. The sales price can be modeled by
S(x) =30 — 0.01x. Therefore, revenue is modeled by R(x) = x+ S(x).

The company’s profit, P(x) = R(x) — C(x), could be modeled by
(1) 0.158 + 0,022 — 28x + 120

(2) —0.1533 — 0.0242 + 28x — 120

(3) —0.1533 + 0.01x2 — 2.0Lx — 120

(4) —0.153 + 32x + 120




